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Choose the right answer from the

~ following;
The _____ format is usually used to store
data. ,
1) BCD 2) Decimal
3) Hexadecimal . 4) Octal
oS Frrdeeome Bari Qe BALmRE SHRFATL.
Dove 2) Sarodo
3) EBRDS 4) &56

52.

53.

1) ood) R

54.

1) ASCIL

| Dabes

The 8-bit encoding format used to store
data in a computeris ______

Sosrgbst Berd Doy BeHmR8 eddEriod 8-
D5 25580l Fro9ls —

| 2) EBCDIC

3) ANCI Huscn
A source program is usually in
1) Assembly language

2) Machine level language

3) High-level language

4) Natural language
Sro @Yoy FErdeor

& @otnod

2) cHolg Jraw grR
3) 638 Taw g 4) S R

Which memory device is generally made

of semiconductors?
1) RAM ~ 2) Hard-disk
3) Floppy disk 4) Cd disk

Fetmor DEEoLEEE Sairt Sabals i
0880 H6? |
1) RAM 2) $5-8%,

4) B& &%)

A A A

55. The small extremely fast, RAM’s are

56.

57.

 3) 26D HoBzre
58.

- 1) alHes

called as
1) Cache 2) Heaps
3) Accumulators  4) Stacks

©8 958, RAM . Slethules)
1) =& 2) Hidye .
3) odere 4) &8

The ALU makes use of to store

the intermediate results.

1) Accumulators

2) Registers

3) Heap

4) Stack _

aobé&&dﬁoéf $osro Qo 3508 ALU

B adIBrAZel.

1) Sodzeen 2) 685%
3) &% 4) J5 .

The control unit controls other units by
generating

1) Control signals-

2) Timing signals

3) Transfer signals

4) Command Signals

Bolis®S QS % ad)g Jodhio wpe a8
SR Dbo@od |

1) QoholEes doBeren 2) Soh YD)

4) 5o i)
______ “are numbers and encoded .
characters, generally used as operands.
1) Input 2) Data

3) Information 4) Stored Values
_ oggen &0k SERE vfren, FTBeorr
2 DT SSEFNT.

2) der

3) Hwarso 4) dex BD Deoden




59. The Input devices can send information

60.

61.

62,

to the processor.,
1) When the SIN status flag is set
2) When the data arrives regardless of the
SIN flag
3) Neither of the cases
4) Either of the cases
SIDE BOYTe (FREH VrroQ HodKeD.
1) %8 Bowe 65 Sabadsiyo
2) SIN 3xRs® Soaogo Bhow Ber ST
3) Soen Bor 8%
4) Bos® m
bus structure is usuall); used to
connect [/O devices.
1) Single bus 2) Multiple bus
3) Star bus 4) Rambus
N - “chsao Feedsor 1/0 $65oroid
©DJoPROTTNE SXTeAFD.
1) 2oAS aky) 2) a50¥ @)
3) %’5 2K)
The I/O interface required to connect the
1/0 device to the bus consists of
1) Address decoder and registers
2) Control circuits
3) Address decoder, registers and Control

4) oeoad

circuits
4) Only Control circuits
az&:‘jé: 1/0 $6%0°R) ©5BarRoSERS ©BHZN
/O so06%% 800 gotool
i) e EEPEE HBaD BAYR
2) Bole®S KEmpen '
3) Do A°E, Bl SO olesPE Kbt
4) oS Sty S
To reduce the memory access time we
generally make use of
1) Heaps
2) Higher capacity RAM’s
3) SDRAM's

" 4) Cache's

63.

64.

65.

Db WDy Sddlrly dhesons Side
OOl % aSdrhodSotris

1) e

2) ob¥ :3*;:’;3?_}0 RAM <

3) SDRAM <5

4) =25

is generally used to increase the
apparent size of physical memory.

1) Secondary memory

2) Virtual memory

3) Hard-disk

4) Disks

_ pebwmore 8% sRR8EE Eo%) HERS
H08rerR) POBERS ADZFATL.

1) 2ot HHd  2) SinsS Hiod

3) 86-8%y 4) &xoen

MFC stands for

1) Memory Format Caches

2) Memory Function Complete

3) Memory Find Command

4) Mass Format Command

MFC w0 .

1) Sb Foys =35

2) D6 HoES &rganod

3) 2058 ok Ekrol

4) $55 oy Eiwol

The time delay between two successive
initiation of memory operation \
1) Memory access time

2) Memory search time

3) Memory cycle time

4) Instruction delay

Rood wBBAS Rty Botdh S S Hify Hdabo
oo
1) 28 eBYR Sabo
2) Db 8% ¥idvabvo
3) D SFo whaho
4) S oo




66.

67.

68.

1) SReo o)

69.

The main virtue for using single Bus |

structure is

1) Fast data transfers

2) Cost effective connectivity and speed

3) Cost effective connectivity and ease of
attaching peripheral devices

4) None of the mentioned

QoA @d DoyerR) edAeAoDSErIE Hees 8o

1) 355088 Ber 2bdew

2) prin6® KrdsS 53808 Hva o

3) )8 Er8 EIZNE SH0u $BHID HOETre
RS B oo

4) BB 26 B

______ are used to overcome the

difference in data transfer speeds of

various devices.

1) Speed enhancing circuitory

2) Bridge circuits

~3) Multiple Buses

4) Buffer registers

005 $osore der 28 Sho Ew¥) LEesPRy

©HRDOUTRE
1) HE 203 $sogeb

2) o8 SR

3) ooy adyen

4) 256 Ba%E

To extend the connectivity of the
processor bus we use

1) PCI bus 2) SCSI bus

3) Controllers 4) Multiple bus
@6 oy G 5IZEY DgOouTRS Fiw
L anGrAY '

2) &)?o“)aé'cosa 2%%), -

eécﬁrﬁoiﬁa‘c&éﬁao&

3) golstery 4) ao¥ o)

IBM developed a bus standard for their
line of computers ‘PC AT’ called _____
1) IB bus

2) M-bus

3) ISA

4) None of the mentioned

70.

71.

72.

73.

IBM o0 Sodmgpol (388 of @drerd) o *
Tod ‘Dl 8’
PR

2) do-af

3) ISA

4) B 26 B

The bus used to connect the monitor to
the CPU is ’

1) PCI bus 2) SCSI bus

3) Memory bus  4) Rambus

&m0t CPU 8 $3§ 3ol add@rnod oy

1) &he 2k 2) dofe )

3) 28 o)

ANSI stands for

1) American National Standards Institute

2) American National Standard Interface

3) American Network Standard Interfacing

4) American Network Security Interrupt

ANSI ©c8

1) ©088S VGG porl) )yt

2) oRBES JHKS Foi§ 20bHT

3) oBES Jtxf) Pkl nowb R

4) 0D05S Sexf) DErpd B0ty

__register Connected to the Proces-
sor bus is a single-way transfer ca-

" pable. |

- 6&‘@5 38 mz&gse ©doprloladNd

a.§-£7°§o 26d 3‘5:@0.

1) PC 2) IR

3) Temp 4)7Z

In multiple Bus organisation, the

registers are cbllectively placed and

referred as

1) Set registers  2) Register file

3) Register Block 4) Map registers

aiFof of $0s’, DEREH SR ol HHddw

™ GRS

1) e85 ¢S Babod

2) 5% 330t Sahold

4) o

3) 62%6 o
1) SrgS 683%




74. The main advantage of multiple bus

75.

76.

7.

organisation overasingle busis
1) Reduction in the number of cycles for
execution
2) Increase in size of the registers
3) Better Connectivity
4) None of the mentioned

&8 2k ey ok S0 ot (BES Hdreso

1) oo §%0 Sseo Somgs® SHok

2) 8% HBErmos® Db

3) 00 53808

4) 250 b 8o

The ISA standard Buses are used to
connect

1) RAM and processor

2) GPU and processor

3) Harddisk and Processor

4) CD/DVD drives and Processor

ISA & 53§ JcbaRs

e adErRolaliaron

1) oo B (@RS

2) GPU 80 (@088

3) BEER) DB (FPRKE

4) CD/DVD E5) S8c (@08

During the execution of the instructions,,

a copy of the instructions is placed in
the

1) Register 2) RAM

3) System heap  4) Cache

4rdse v $20Hed, Frsde sh . &
Qo

1) 3% 2) T

3) ¥ZS ©F) 4) =R

Two processors A and B have clock
frequencies of 700 Mhz and 900 Mhz
respectively. Suppose A can execute an
instruction with an average of 3 steps
and B can execute with an average of 5
steps. For the execution of the same

- instruction which processor is faster?

DSBS

8.

79.

DA

2)B

3) Both take the same time

4) Insufficient information

A %005 B oF Bots @iy L 700 Mhz
S0k 900 Mhz f&dsr8 Frdehayuids BUA
aotron, Abried 8 Sdud® wb Gridlih el
Sorosd Hodke B Hied 5 Gded® vl
Jdoro8l vdhomo, ©F drdse v B0 O
%5 Srforr @otnod?

Da

2) 9

3) Botr 28 vaho Botron .

4) 8A%08 ddrarto

A processor performing fetch or
decoding of different instruction during
the execution of another instruction is
called

1) Super-scaling

2) Pipe-lining

3) Parallel Computation

4) None of the mentioned

588 555 o 3%&.3?’.;)3&: 3356: SrSSod
otsito B BBl T5H (D2ES_ eotrd
1) &6 TPof ‘ |
2) 25-80h

3) B&ro8s Kl

4) &5 26 8o

For a given FINITE number of
instructions to be executed, which
architecture of the processor provides
for a faster execution? A

1) ISA

2) ANSA

3) Super-scalar

4) All of the mentioned



80.

81.

82,

ebe Jabdeds 00§ FINITE drsse 8o,
S5 T D Yogme o b VTR
woldoh?
1) ISA 2) ANSA
3) &8 b 4) DEPBNY,
The clock rate of the processor can be
improved by
1) Improving the IC technology of the logic
circuits
2) Reducing the amount of processing
done in one step
3) By using the overclocking method
4) All of the mentioned
35 Io%) KES i
St iR
1) o8 Sty wd Ssedd BHDSSE
2) 2.8 838" D% @ Roh IwaR) SRoso
3) &555380h HFBY edrRoNEo wxo®
4) 2855
An optimizing Compiler does
1) Better compilation of the given piece
of code
2) Takes advantage of the type of
- processor and reduces its process time
3) Does better memory management
4) none of the mentioned
eQ@eol Yopel SrSTA
1) aiys 886 Gw) od So¥eo
2) (FR15 5577 $OR@Pro TKtotnod a’»eo‘in
o0 (R STy, $A%0
3) HRS Db e ;5.\30@
4) HE950 28 B9
The ultimate goal of a compiler is to

1) Reduce the clock 'cycles for a

programming task
2) Reduce the size of the object code

3) Be versatile
4) Be able to detect even the smallest of

¢rrors

SN

83.

84.

85.

'SPEC o8

Sopob s wobd o
&5%

R oy, slivmn o hn I m
iV “/H (I)J"d WADROAD DO il
3 v

1) @reanoh H0
2) opf 56 Sbsreriy Shodol

4]

3) oivdmgore sotol

4) wd 05 Earoln &

SPEC stands for

1) Standard Performance Evaluation Code

2) System Processing Enhancing Code

3) System Performance Evaluation
Corporation

4) Standard Processing Enhancement
Corporation

J> o3 f\/aOu//beuﬂ"

1) @rsrds $08% Swergosso 86

2) 23S @00k B 98 &6 '

3) 255 BB SorergodS SEYBLS

4) FrErds (%oh DHHEe SENBHS

As of 2000, the reference system to find
the performance of a systemis

1) Ultra SPARC 10

2) SUN SPARC

3) SUNII

4) None of the mentioned

2000 88, SEP Gof) SE6HD EHTIERS
B R

1) eiep A8, 10

2) 88 G,

3) SUNII

4) JERKH 26 B

When Performing a looping operation,

~ the instruction gets stored in the

1) Registers

2) Cache

3) System Heap
4) System stack

erdofl e8RS Tis, dress
Bbwtbsod

1) bagsy

2) o)

3) &gH &5

4) oS P8

& ey



86.

87.

88.

89.

The average number of steps taken to
execute the set of instructions can be
made to be less than one by following

o B8R wde Dudmels SR SKtn B

Qogg ©%B00SE0 TTe a88 Kol S
dodwol.
1) ISA 2) Pipe-lining

3) Super-scaling  4) Sequential
If a processor clock is rated as 1250
million cycles per second, then its clock

- period is

Bo8E KBGrooR) DESDD 1250 HOHS S(grenr
3¢S 3@, o0 K& sPe0

1)1.9*10"%sec 2) 1.6 *10°sec
3)1.25* 10" sec 4)8* 100 sec -

If the instruction, Add R1, R2, R3 is
executed in a system which is pipe-lined,

then the value of S is (Where S is a term

of the Basic performance equation)
25-348° &85 Eed® R1, R2, R3 & &%8%,
S &%) deod (afE S 3o (FFLE 508%
$Eostmo Gut B80)

13 2) ~2
3) ~1 4)6
CISC stands for

CISC ol

1) Complete Instruction Sequential
Compilation

l2) Computer Integrated Sequentlal

Compiler | ‘
3) Complex Instruction Set Computer

4) Complex Instruction Sequential
Compilation

90. As of 2000, the reference system to find

the SPEC ratmg are built with
Processor.

1) Intel Atom SP arc BOOMhz

2) Ultra SPARC -1l 300MHZ

3) Amd Neutrino series

4) ASUS A series 450 Mhz

91.

92.

93.

siae 22 @"70:655‘5 DB&O\TSIO&O&

1) 5086 werd SP 300 Mhz

2) olex SPARC -1l 300MHZ

3) o Sy B6H

4) ASUS %8% 450 Mhz

If we want to perform memory Or

arithmetic operations on data in Hexa-
decimal mode then we use __ symbol
before the operand.

Ddn wey-gwod arES AR 2okb S
wosKdE widhy Bokrobbhod, e oo
a0l dwoth __ HEyd adEEATR.

D~ 2)! 3).$ 4) *

When generating physical addresses
from a logical address the offset is stored
in

1) Translation look-aside buffer

2) Relocation register

- 3) Page table

4) Shift register

Ao {J&a"ér L08 F0E Dbrdrod ey
ot eFE _____ & Doy Todhatodod
1) edarto eE-HHS 258

2) HRe8g800 8896

3) Dl 588

4) &§ 6836

The technique used to store programs
larger than the memoryis

1) Overlays

2) Extension registers

3) Buffers

4) Both Extension registers and Buffers
HoH6 o8 g PrSiod doy Saoes
&5BreAon 8BS

1) odgen

2) &r8A0% BEY

3) o

4) SEBRS Bty Db wPKy Dotk



94. The unit which acts as an intermediate

95.

96.

97.

agent between memory and backing

store to reduce process time is _____

1) TLB's 2) Registers

3) Page tables 4) Cache

@20 BoaseR) SNoSTS Db H0co ergBoft

BE D& aobég&®é5 OBoS HAITD cres

1) 82§ 2) eag%

3) e H¥ew 4) =&

The Load instruction does the following

operation/s, |

1) Loads the contents of a disc onto a
memory location

2) Loads the contents of a location onto
the accumulators

3) Load the contents of the PCB onto the
register

4) None of the mentioned

& aSGES Sob sBTES / e ot

1) &%) %) SoBoigd Db P8 &6 nod

2) 2¥ EBdo TwE) Dk Hoderwp &6
S0

3) HRDS% Dicres 08766° 6°6 Jahod

4) 250 ob 85

Complete the following analogy:-

Registers are to RAM’s as Cache’s are to

1) System stacks 2) Overlays

3) Page Table 4) TLB

8ol FUrHSS 0 Bkl

-2 RAM % deghy 8 aokrow

1) &3S 8§ 2) o859

3) v HG 4) TLB '

The BOOT sector files of the system are
stored in
1) Harddisk

2) ROM

'3)RAM

4)Fast solid state chips in the
motherboard

98.

99.

100.

101.

NgS @w¥) BOOT 2gb 28 & dey
Schetaran

1) 38685

2) ROM

3) o

4) 25)665%5568636 SIKore b %o A

The transfer of large chunks of data with
the involvement of the processor is done
by
1) DMA controller

2) Arbitrator

3) User system programs

4) None of the mentioned

S8 Fof) Babos® Tir GwY) G T

08d 38 DoheodsHod
1) DMA ¥ois*8
2) 5558

3) chrab BPD @Freoven

- 4) B0 26 S

Which of the following technique/s used
to effectively utilize main memory?

1) Address binding

2) Dynamic linking

3) Dynamic loading

4) Both Dynamic linking and loading
B AR ShySosomr aS@rNonEEmRS
& 800 855 /w0 20?

1) D&Er Bokoh

2) 3% Dodoh

3) BSWE &°Boh

4) 2208 DoBoh bk &°RoR Boir

The duration between the read and the

mfc signal is

1) Access time  2) Latency

3) Delay 4) Cycle time
$556e08 H0a mfc HifS iy o
1) g8 Scho  2) oBY)

3) ses0 4) 285 HHaho

The minimum time delay between two
successive memory read operations is
1) Cycle time

2) Latency

3) Delay

4) None of the mentioned
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102.

103.

104.

Soth St kb 88 wuTyy gy 08 ddbddo

QSO(OCSO

1) :cgges daho 2) @3&3%

3) oo 4) S0 08 8o
MFC is used to

1) Issue a read signal

2) Signal to the device that the memory
read operation is complete

3) Signal the processor the memory
operation is complete

4) Assign a device to perform the read
operation

MFC _ % ed&rNoSatdHod

1) 68 256 asol

2) D56 68 eIBAS FrEowd HOET8 wif)S

3) BrRES BifS Aol Db @SS Grganod

4) 886 SH05S SoHmedd HOETRY Beranosod

is the bottleneck, when it
comes computer performance.
1) Memory access time
2) Memory cycle time
3) Delay
4) Latency ,
Soipsol 8% DESFIE F]
®goSs.
1) 28 airg)d dsHabo
2) b Sgo wdabo
3) sodo
4) B8R
The logical addresses generated by the
CPU are mapped onto physical memory

by ____

1) Relocation register

2) TLB

3) MMU

4) None of the mentioned

CPU oo 688 Scbhads oo08 DBhTErw 88

opHEEEs oo RS Schasron
1) esgsdrss 6856

2) 808

3) MMU

| 4) 250 26 &

105.

106.

107.

108.

109.

110.

VLSI stands for

VLSI woll

1) Very Large Scale Integration

2) Very Large Stand-alone Integration

3) Volatile Layer System Interface

4) None of the mentioned

The cells in a row are connected to a
common line called
1) Work line 2) Word line

3) Length line 4) Principle diagonal
S85m e 03 Fods OpE
wddcrlolal &otrow

1) $&, 88 2) 36 88
3) D Ty 4) &= DEZe

The cells in each column are connected
to

on

d €

1) Word line 2) Data line

3) Read line 4) Sense/ Write line

58 TSR Sre 8 otoricdal
GOLFON |

1) %8 88 2) @& B8

3) 8688 4) 2]y /35 88

The word line is driven by the

1) Chip select 2) Address decoder
3) Data line 4) Control line

JE Do 38 J3dadHod

1) 95 oHSSLe  2) DO r &8%%5

3) der 88 4) Zo5°S 8%

A 16 x '8 Organisation of memory cells,
can store upto

1) 256 bits 2) 1024 bits

.3) 512 bits 4) 128 bits

16 x 8 b Zwro Scx, S5 Ay
Sched

1) 256 &) 2) 1024 &8

3) 512 &) 4) 128 2

A memory organisation that can hold
upto 1024 bits and has a minimum of 10
address lines can be organized into

1024 D) $8% HinSHOR H0ake W30 10 $ES

35 $OA af) Jowb Sogd &8
QBRPoBSK). '

1) 128 x 8 2) 256 x 4

3)512 x 2 4) 1024 x 1



111.

112.

113.

114.

115.

>
F LY 3

1) S5 ety

Circuits that can hold their state as long
as power is applied is

1) Dynamic memory

2) Static memory

3) Register 4) Cache

¥§ $0oTodS8H =8 R0 Neosilouie S8y

1) 8308 Db 2) POE x0d

3) 33 4) ==&

The number of external connections
required in 16 X8 memory organisation
is ‘
16 X 8 D08 :(:oz:;aes6 ©IIBN ey SIES Soyy

D14 2)19 3) 15 412 -
The advantage of CMOS SRAM over the
transistor one's is

1) Low cost

2) High efficiency

3) High durability

4) Low power consumption

QR0 280 508 CMOS SRAM  Gin) (@ceesiSo

2) ©B% 0

3) ©6¥ HYE 4) €5 Doy DAIFeiso

In a 4M-bit chip organisation has a total

of 19 external connections.then it has
address if 8 data lines are there.

4M - 28 0% éo“gé‘s Swgo 19 erdty SIZR

aTom. 8 Ber S ¢of w8 Do
acinol.

D10  2)8 39 4) 12
PROM stands for

PROM o8-

1) Programmable Read Only Memory

2) Pre-fed Read Only Memory
3) Pre-required Read Only Memory
4) Programmed Read Only Memory
116. The PROM is more effective than ROM

chips in regard to

1) Cost
2) Memory management
3) Speed of operation

—

4) Both Cost and Speed of operation

117,

1 118.

119.

120.

% dowood) ROM %o Yol PROM
o008 (Wyrddodon® dotnol

1) weiy

2) Db NGysere

3) edBaS Jro

1) ) oUW oS88S Sro Bote

The difference between the EPROM and
ROM circuitryis

1) The usage of MOSFET's over Lransistors
2) The usage of JFET's over transistors
3) The usage of an extra transistor

4) None of the mentioned

EPROM %000 ROM S8mes Loy Sgomsido

1) =582 MOSFET &80

2) (&R BoB JFET aei¥o

3) o559 ErQRE &0

4) K0 6 B

The ROM chips are mainly used to store

ROM 28 @e=sore D oy BeHaeRs
ABTATL

1) System files 2) Root directories

3) Boot files 4) Driver files

The contents of the EPROM are erased
by

1) Overcharging the chip

2) Exposing the chip to UV rays
3) Exposing the chip to IR rays

4) Discharging the Chip
EPROM %2 28 cSmwo
SohodSasran

1) 955 efBorr Sdren Jchio

2) D% dod 8Beret atrdso Siyod

3) 05 neb 88ered aird¥o Sedio

4) 05 dbde Iabio

The disadvantage of the EPROM chip is

1) The high cost factor

2) The low efficiency

3) The low speed of operation

4) The need to remove the chip physically

to reprogram it



123.

124.

. The disadvantage of the EEPROM is/are

1) The requirement of different voltages
to read, write and store information

2) The Latency read operation

3) The inefficient memory mapping
schemes used

4) All of the mentioned

EEPROM &% 8808

1) ooy SE8ER8, (EabElS Hoa Jeg
Scahmedd 2% SPfer o8B0

2) 8 85 W8S

3) sxsd D58 ol Sseen alarRosagay
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[eate 0\

: The memory devices which are similar

to EEPROM but differ in the cost
effectiveness is
238 %esoces EEPROM & £80 ectron S
) Lw“*“é’ PJore &odran
1) Memory sticks 2) Blue-ray devices

3) Flash memory 4) CMOS

The flash memories find application in

1) Super computers
2) Mainframe systems
3) Distributed systems

4) Portable devices
& DI EdiCotrow

1) $mu6 Sodmpl  2) Daws DD Hxgen
3) Hodd HrSide 4) e HOTT

The memory module obtained by
placing a number of flash chips for

higher memory storage called as
o0 Heoded 08 Db Jeug o I8

T8 050 aosto T ol Db drdnyd
1) FIMM 2) SIMM
3) Flash card 4) RIMM

5,8 L*:&S’&)

125.

126.

127.

128.

The flash memory modules designed to
replace the functioning of a hard disk is

—_—

1) RIMM 2) Flash drives

3) FIMM 4) DIMM

5 85 Bt H08HD ¢8 SadmRs ErRroBo0s
TR b Sy

1) RIMM 4) T g5

3) FIMM 4) DIMM*

The reason for the fast operating speeds
of the flash drivesis

1) The absence of any movable parts

2) The integrated electronic hardware

3) The improved bandwidth connection

4) All of the mentioned

TR @_5@» SHEEEE s$3808 Irl8 w0

1) 488 grrren BEFSE0

2) 808788 AolgRE FEI5

3) ERS &G SRS

4) BFIY

The DMA differs from the interrupt

mode by
1) The involvement of the processor for

the operation
2) The method of accessing the 1/0O

devices
3) The amount of data transfer possible

4) None of the mentioned

DMA wodorad & ok PJom aokwod
1) s5855 §%0 R86 o) Boho

2) 1/0 $68teesd drg)ld 3D 558

3) dtr 20d Ingo

£) S0 56 8

The DMA transfers are performed by a
control circuit called as

1) Device interface

2) DMA controller

3) Data controller

4) Overlooker



129,

130.

131.

133.

. 3) Tt ool

DMA 20dw 2 deodnd Sois®S dsmgels oy
sTrodnloron
1) 5088 sowbdR  2) DMA ¥ois*b

4) $8oSHEv AT

In DMA transfers, the required signals
and addresses are given by the

1) Processor 2) Device drivers

3) DMA controllers 4) The program itself
DMA 28dos®, ©853858 Soiaren KHBS»
DHTEro sRREETo0

1) &6 2) %688 @

3) DMASooty  4) sdgsioo S

After the completion of the DMA transfer,
the processor is notified by

1) Acknowledge signal

2) Interrupt signal

3) WMFC signal

4) None of the mentioned

DMA 280 &rgond dthard, @6 oo
B0hBEahathEHod

1) 258 HBosod  2) eodtead Kos¥o

3) WMFC %8 4) 258 26 B
The DMA controller has registers
DMA go(is'o56*
1)4 2)2

‘ Begsy aTnow
3)3 4) 1

. When the R/W bit of the status register

of the DMA controller is set to 1.

1) Read operation is performed

2) Write operation is performed

3) Read & Write operation is performed
4) None of the mentioned

R/W Sois’ob @) 38 8238 &) DMA 28
1% & Sabalsid.

1) 88 «XBRS AP

2) 0 SHBRS wthidE08

3) 68 & B wHTHS adirbEod

4) R0 b Sd

The controller is connected to the
1) Processor BUS 2) System BUS
3) External BUS 4) None of the mentioned

134.

135.

Qabo®8 8 oddoprlodnl ¢ol

1) @6 BUS ARSI

3) arisg BUS 4) 28350 ob S

How can Jump Search be improved?

1) Start searching from the end

2) Begin from the kth item, where k is the

step size

3) Cannot be improved

4) Step size should be other than sqrt(n)

a8 Rodh &S o BothibDdiddod?

1) 958 od oo (@Bofosod

2) k& wodo &0od @rtodood, a8 k' odn

868 HBSres0

3) DBHBBSEO o S

4) &% $6%me0 sqrt () sehore sowed

The technique whereby the DMA

controller steals the access cycles of the

processor to operate is called

1) Fast conning  2) Memory Con

3) Cycle stealing 4) Memory stealing

SATR8 (PSS Do) SrFHI SSeot
%oliS* o8 GPoNDoR FoS8ESS ©otrd

1) &5 Qoh 2) 2008 =8

3) 285 &Fordso  4) HE JoR

136. The technique where the controller is

137.

given complete access to main memory
is . :

1) Cycle stealing 2) Memory stealing

3) Memory Con  4) Burst mode

S pBSEs Dubo@¥S TG PGS wdeld
FoBBES

1) 2865 orgso  2) b §OoR

3) D6 =8 4) DentHd Io&

The controller uses _____ to help with
the transfers when handling network
interfaces.

1) Input Buffer storage

2) Signal enhancers

3) Bridge circuits

4) All of the mentioned

SRR TN RO B L& wddod |
SFHBEEES Voho®8 0 adRrAdod.
1) s8¢ @58 oy 2) WfS oS,

3) $oBS vemgen  4) BESY




138. To overcome the conflict over the

139.

140.

141.

possession of the BUS we use

1) Optimizers

2) BUS arbitrators

3) Multiple BUS structure

4) None of the mentioned

BUS & 38%c TH58Ees’ &%) Sofded

R S3ERATES

&
The registers of the controller are

1) 64 bits 2) 24 bits
3) 32 bits 4) 16 bits
Sol’ ol En%) BEg% |
1) 64 8 2) 24 &)
3) 32 &) 4) 16 &)

When the process requests for a DMA

transfer ‘

1) Then the process is temporarily
suspended

2) The process continues execution

3) Another process gets executed

4) process is temporarily suspended &
Another process gets executed

©8as DMA 28d %0 ©ggoddQd

1) o H8ad seoydorr DOLIcHaHEH0d

2) BiEH oD FIPAZd

3) HFE P wdHw ©Hod

4) H&ad semdiore WHIHalod & HEE
S8 oD 9HH0d

The DMA transfer is initiated by ____

1) Processor

2) The process being executed

3) I/O devices :

4) OS

DMA =&d

1) @38

2) odHen SahalHR) BB

3) 1/0 $88een

4) OS

38 (SBodosndod

142,

143.

144.

145.

The numbers written to the power of 10
in the representation of decimal
numbers are called as _
1) Height factors
2) Size factors
3) Scale factors
4) None of the mentioned
§508 Hogp (FBGS® 10 @ng) B8 @RS
Soggod OLTD
1) 2§ se¥sce . 2) $8&re ST
DS st D S0 b B
If the decimal point is placed to the right
of the first significant digit, then the
number is called
1) Orthogonal
2) Normalized
3) Determinate
4) None of the mentioned
Sarod Dothd s KogiRd ©o8 Gng & 3B
Sonld3, & Joggd ®OoLTD
1) R3S 2) Frdsbosatod
3) dgowoiSod 4) 250 26 8%

constitute the representation
of the floating number.
1) Sign
2) Significant digits
3) Scale factor
4) All of the mentioned

S0aird Hogg oY) (S8R
1) 28 0% 2) SoagDd ©oSen
3) {S =80 4) DY
The sign followed by the string of digits
is called as _

1) Significant 2) Determinant

3) Mantissa 4) Exponent
®oBw (Qofi Shard HEd SO
1) Soggose 2) Beeos

3) o 4) grgeo¥o



146. In IEEE 32-bit representations, the

mantissa of the fraction is said to occupy
bits.

IEEE 82-285 (@820, Ho ol droddy
DD sEDROUN wotrd.

149.

/¢ o o - MM 4. 0y LT - L

ol URE LLDJLJ] 32 L ’\:J“:Ju;:"; ), e AN
N . ¥ - o ¢ Ay o o o

l ) Send - | u)?.)nu'z Z) 8- y‘a'.tﬂ.“"S“"/".',

)" T L sl £ gon. s o L A
\%) :L)h').!,)k)l't)i\) ('.’,"";.‘ 4) vi;)./(}/’g‘-.;: .’.,‘.}.; "‘Jz',!,,

In 32 bit representation the scale factor
as a range of

32 D& (So0ed® W o S84
Qoo

1)-128 to 127
2) -256 to 255
3) 0 to 255

4) None of the mentioned

150. In double precision format, the size of

the mantissa is
Bend (BRS @"0‘3568, Srofn H0&rwo
1) 32 bit
2) 52 bit
3) 64 bit
4) 72 bit

D24 2)23 3) 20 4) 16
147. The program is divided into operable
: parts called as
1) Frames 2) Segments
3) Pages 4) Sheets
e ©Q Dot eiBmS Fereom
QF¥Lolalod
1) @&wen 2) derreen
3) Dden 4) &ex
148. The 32 bit representation of the decimal
number is called as _____
1) Double-precision
2) Single-precision
3) Extended format
4) None of the mentioned
501 522 533 591 551
61)3 624 63)2 692 653
1 74 )2 H1 753
82 821 833 8491 852
M3 922 931 94 952
10D1 1023 1032 .10H3 1051
112 1121 113)4 1193 1151
121 1223 123)4 124)3 125)2
33 1321 133)2 1392 1353
14D3 1423 143)2 1494 1453

. 56)1
66) 3
76 4
86) 3
96) 4
106) 2
116) 4
126) 1
136) 4

146) 2

57) 2
674
70 1
87) 4
97) 2

107) 4

117) 8
127) 4
137) 1
147) 2

58) 2
68) 1
78) 2
88) 3
98) 1

108) 2

118) 3

128) 2

138) 2

148) 2

59) 1
69) 3

93

89) 3
99) 3
109) 4
119) 2

129) 3

139) 3
149) 1

60) 1
70) 2
80) 4
90) 2

10001

110) 4

120) 4

130) 2

140) 4
150) 2




